Seventh Annual Intermediate/Advanced Tragedy

RNy CAMWS College Greek Exam (2022-2023) RN
TIME: 50 MINUTES DO NOT USE A DICTIONARY

Mark the correct choice ON YOUR ANSWER SHEET. There is only one correct answer/choice for each
question. Choose the BEST POSSIBLE ANSWER.

SEPARATE THE PAGES WITH THE PASSAGE AND CONSULT THEM AS YOU TAKE THE EXAM.

1. Which of the following English words has a root cognate with dewvov in line 1?
a) denote ¢) dinosaur
b) dinner d) dynamite

2. The @d’ in line 1 is an elision for
a) Woe. ) wov.
b) wdo. d) dw.

3. Inline 2, the resolution of a long syllable into two short syllables is found in
a) the first metron. ¢) the third metron.
b) the second metron. d) none of the metra.

4. The &paut’ in line 3 indicates
a) indirect discourse. C) purpose.
b) potential. d) wish.

5. Lines 1-3 express the sentiment that
a) everyone has a naturally miserable disposition.
b) it is in human nature to endure every sort of misfortune.
c) the gods are responsible for human nature.
d) the natural state for a human being is to live a happy life.

6. The kovk in line 4 is a crasis for
a) Kal O €K. C) K€ OVK.
b) kat ovk. d) xetvag ovk.

7. Inline 5, the tense and voice of tegukwg are

a) aorist active. c) perfect active.
b) aorist middle. d) pluperfect active.
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8. What kind of participle is deipatvewv in line 6?
a) absolute ¢) circumstantial
b) attributive/substantival d) supplementary

9. tiver TtV diknv in line 7 may be best translated by which of the following?
a) He defends against this lawsuit. c) He knows this justice.
b) He gives this judgment. d) He pays this price.

10. The 6ttin line 8 introduces what type of clause?
a) causal c) relative
b) indirect discourse d) temporal

11. What kind of adjective is aioxiotnv in line 10?
a) adverbial ¢) substantival
b) comparative d) superlative

12. Lines 8-10 indicate that the transgression of Tantalos consisted of
a) cursing the gods for his fate.
b) eating the food and drink of the gods.
¢) serving a cannibalistic meal to the gods.
d) speaking or saying too much.

13. The tov in line 11 refers to
a) Atreus. ¢) Tantalos.
b) Pelops. d) Thyestes.

14. Which of the following is the closest synonym to ocvyyovw in line 13?
a) KAoLyVITw c) matol
b) moudt d) mooonkovTt

15. In line 14, the tense and voice of OéoOat are
a) aorist middle. c) present active.
b) aorist passive. d) present middle.

16. What is the gender, number, and case of amoxteivag in line 15?

a) feminine, plural, accusative ¢) masculine, plural, accusative
b) feminine, singular, genitive d) masculine, singular, nominative
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In line 16, Elektra explains that she
a) believes her family’s fortunes have varied.
b) finds herself trapped in the middle of the family curse.
c) is skipping over certain details of her family’s history.
d) wants the fate of her family to be more balanced.

et O kAewvdg in line 17 has the force of
a) hoping for a different future. c) qualification.
b) pride. d) regret.

The te in line 18 is joining
a) Ayapépvwv and MevéAeawc.
b) épu and aro.
¢) MevéAewg and Korjoong untoog Aeomnngc.
d) MevéAewg Konjoong and pntoog Aepdmng.

What is the force of the present tense yapet in line 19?
a) conative ¢) historical
b) habitual action d) perfective

The main caesura in line 21 occurs after the word
a) émionuov. c) ‘EAAnvac.
b) eic. d) Ayapéuvav.

eic "EAAnvac in line 21 may be best translated by which of the following?
a) among the Greeks ¢) into Greece
b) for Helen d) with the Greeks

The pag in line 22 agrees with
a) unteo¢ in line 24. ¢) maOévot in line 22.
b) Opéotnc in line 24. d) Xovoo0Oepig in line 23.

We find out in lines 25-26 that

a) Agamemnon had put on a robe, unaware that he was about to be killed.
b) Agamemnon tried to defend himself with a large robe.

c) Klytemestra entangled Agamemnon in a large robe and then killed him.
d) Klytemestra was unaware that she could use a robe to kill Agamemnon.
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In lines 26-27, Elektra says that
a) no one must ever know why her mother killed her father.
b) it is not proper for her to explain why her mother killed her father.
c) she approves of the reasons why her mother killed her father.
d) she does not know why her mother killed her father.

What is the mood of é@ in line 277
a) imperative C) optative
b) indicative d) subjunctive

In line 27, év xowv@ okomety may be roughly translated as:
a) for someone to take counsel c) to examine at the opportune time,
b) for public consideration d) to see at that place

What is the part of speech of o’ in line 29?
a) adjective ) conjunction
b) adverb d) pronoun

In line 30, ktetvat is a/an
a) articular infinitive. ¢) historical infinitive.
b) complementary infinitive. d) infinitive in an indirect statement.

The participle gp¢pov in line 30 is being used
a) as a modifier of evkAelav. c) epexegetically.
b) as an accusative absolute. d) in apposition to ktetvat.

What does Elektra mean by the phrase oia d1) yvvrj in line 327
a) A female servant helped her.
b) She did all that she could as a woman.
c) She is the type of woman who loves a good murder.
d) Women are particularly prone to murder.

In line 32, pdvov represents a genitive

a) object of a verb. c) of possession.
b) of description. d) of the crime.
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The sentence in line 33 is missing its main verb. Which of the following is the most
plausible one to supply from the context?

a) ATEKTELVEV C) HeTéoxev

b) émaOev d) maonv

What is the tense of cvykateipyaotat in line 33?
a) aorist ¢) imperfect
b) future d) perfect

What is the case and number of TAfjuwv in line 35?
a) accusative singular c) nominative singular
b) genitive plural d) vocative singular

Which of the following English words has a root cognate with aiud in line 36?
a) hamartia ¢) hemitrope
b) hamate d) hemorrhage

What is the state of Orestes in lines 34-377?
a) He is hiding under a blanket from the Furies.
b) He lies weeping softly to himself.
c) He sleeps peacefully, untouched by the Furies.
d) Sick, exhausted, and driven to madness, he lies on a bed.

The yoap clause in lines 37-38 explains why Elektra
a) blames the Furies for Orestes” condition.
b) knows that the Furies are goddesses.
c) states that she hesitates to name the Furies.
d) thinks “Eumenides” are a fitting name for the Furies.

Euripides spent his final years in
a) Athens. c) Persia.

b) Macedonia. d) Sicily.

This passage is drawn from the part of a tragedy known as

a) kommos. c) prologue.
b) parodos. d) stichomythia.
TEAOX
THE END

the reading passage follows —
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TEAR OFF THIS PAGE AND CONSULT THE PASSAGE AS YOU TAKE EXAM.
NOTE: Vocabulary help appears underneath the Greek word(s).

In the following selection from Euripides’ Orestes, Elektra recounts the history of her family and presents the
current condition of her brother.

‘HAéktoa: Ovk €0tV 0VOEV deVOV WO elTteLV €TTOG 1
ovdE mAbog oVdE Evpoa DenAatog, 2
OenAatog, -ov infer from Beodg + EAavvw
NG ovk av doaut’ dxBog avOpwmov PUoLC. 3
0 &x0oc¢: burden
O YOO HAKAQLOG — KOUK OVeIlw TuXag — 4
oveldiCw: infer from dvedog
Alog meukws, we Aéyovat, TavtaAog 5
KOQLEPNG VTIERTEAAOVTA DELUA VWY TTETQOV 6
1] KOQL@T] = TO KQAG
Ume@TéAAw: I hang over
dewpaivw: infer from deiua
aéoL motatar kat tivet tavtny dikny, 7
0 ano: air
notdopar: I fly about
WS nev Aéyovotv, 6tL Beoig avOpwmog wv 8
KOWVNG Toamélng délwu’ éxwv toov, 9
1 Tedmela: table

T0 a&iwpa: honor
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axoAaotov éoxe YAwooav, aloxiotnv vooov. 10
axodAaotog, ov: undisciplined, unrestrained

oUtog putevel [TéAoma, Tov &' Atpevg Egu, 11

utevw: [ beget

@ oTépuata ENvao’ EmékAwoev Oex 12

0 otépupa: wreath, garland [here = wool]
Eaivw: I card [i.e., combing out impurities of wool before weaving]
érukAwOw: I spin [a thread] to, I assign
£owv, Ouéot) MOAeHOV OVTL OVYYOVQ 13
0é00aL Tl tdoonT dvapetorjoaoOal pe dei; 14
a&ponTog, -ov: unspeakable, unutterable
avapetoéw: I measure again, [mid.] I recapitulate
£daoe O’ 0OV VIV TékV' amokteivag Atoevg. 15

daivuput: I give a banquet, I make dinner for

ATEéwc 0 —TAG YAQ €V HEOW OLY® TUXAG— 16
0 KAewvog, el d1) kAewvdg, Ayapépvwv Epu 17
MevéAews te Korjoong unteog Aepommng amo. 18
YOUELD O pev o1 v O€0lg otvyovuévny 19
MevéAaog ‘EAévny, 6 ¢ KAvtawurotoag Aéxog 20
éntonuov eig "EAANvac Ayapépvov avaé: 21

€miomnuog, -ov: notorious
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@ TMaROEvoL eV TEELS EPUHEV €K HLAG, 22
XovodOepic Tepryéverd t HAékToa T €yw, 23
aponv 0 OQ€otng, UNTEOS AVOOLWTATNG, 24
1) méov dmelpw meQBaAovo’ VPAoHATL 25

T0 Vpaoua: woven robe
Extevev: wv O Ekatt, mapOévw Aéyety 26
00 KAAOV* € TOUT ACAPES €V KOLVQ OKOTTELV. 27
aoaprg, -é¢ = A- + oapng, -ég
DoiBov 0’ Adkiav pEV TL Ol KATIYOQELY; 28
1] &dwkia: infer from Adwkéw
nel@etd” Opéotnv untép 1 o’ éyetvato 29
veivopar: I beget
KTELVAL TIQOG OV ATIAVTAG EVKAELAV PEQOV. 30
1) evkAeia: good reputation
Opwe O améxTewy’ ovk amelOroag Oeqr 31
amnetBéw: I disobey (+ dat.)
KAYQ HETETXOV, Ola OT) YLVT), POVOU, 32
ITuvAadng O°, O¢ ULV ovyKaTelpyaOoTAL TADE. 33
gvykateQyaCouar: I help someone (dat.) in (acc.)
évtevOev aypla ovvtakels VOow Vooel 34

ovvtnkw: I cause to waste away; (pass.) I waste away
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TANUwV Opéotng 6de mecwv €v depviolg 35

T dépvia: bed

KELTAL, TO UNTEOC O alpd viv tooxnAatet 36

tooxnAatéw: I drive all over the place

Haviaiow: ovopdley yap atdovpat Oeag 37

1) pavia: madness

Evpevidacg, al tovd' éEapiAA@vTat @opw. 38

eEapuAdaopac: I drive out (of one’s mind)

Proper Nouns and Adjectives

Avyapépuvwv, -ovog, 0: Agamemnon
AeQomnm, -1g, 1): Aerope

ArtQevg, -éwg, 6: Atreus

‘EAévn), -ng, 1]: Helen

Evpevideg, -wv, at: the Furies
‘HAéxtoq, -ag, 1): Elektra

®uéotng, -ov, 6: Thyestes
Tryévaa, -ag, 1): Iphigeneia
KAvtaipunotoa, -ag, 1): Klytemestra

Konooa, ne: Kretan (fem. adj.)
MevéAaog, -ov, 0: Menelaos

MevéAewg, -ew, 6: Menelaos (Attic form)
‘Ogéortrng, -ov, 0: Orestes

ITéAo1, -omog, 0: Pelops

IMuAadng, -ov, 6: Pylades

Tavtalog, -ov, 0: Tantalos

Xovo00epuig, -1dog, 1): Khrysothemis



